139 e 5 - L % s

5 - ¥ 5 g 43 H ’ ’
’ . 1 “ \ : :j » B | )
w . L. 5 ¥ £ E | i
- . ‘ A | B L v Pk % & A & | | _ |
X ok oa | AR S - | : = B - 0 ;;u | wevsomat | HEAKRAH | F b KMER
; | miwaom | KE AR gt < 4 R } —6h | eibLE ’ . . - |
* | ' | | ) | | " g ) | ‘
< B T} 80 - 150 230 ~ 1 28 - 80 109 : 24,05 s i

+ =% ﬁ{% ........ 36 70 106 5(l) v “ 5l 50 ) 55 12,028 } 13,898 3,600

e 44 8ol . 124 , & o L 23 30 4 - 12,027
5 %0 130 220 1§g : 1 60 ’ 68 : 129 24,075)) -
lﬁl-rmﬁﬁ{%-"--- 46 _ 60 106 4 o i 39 30 63 11,315 13,898 2,813
L weeesens 44 70 104 i b — 28 d 38 L 66 12,760 r

e ; Bt 76 129 208 1 2 30 40 72 25,724
LRMAFELBRmL a0 & X -rﬁj-i—:—zﬁ*ly} -------- 42 61 ‘ 103 7; | 2 17 25 44 14,801 1,500 - . 28,99
| lt ------ 37 68 _ 105 1;2 — 13 15 28 10,923 '
- ? BN 84 17 201 - 1 48 30 79 24,450)
; ! rﬁn—:.qa{gg ------- 43 54 97 z i 28 13 421 13,149} 11,085 2,753
i, & 41 63 104 — 20 S 37 - 11,301
- N i i




ek
Bt N | o . swnEn 193
| | 139. R 5 R (s
) : ¥ L] * b
‘ 1 . | £ kK B £ A R
| . D om g . . v v
\ PPt o | Mok | & * . | & m : 4 ®w A AEPEYEAR | FEAKDUER | R4ED 2 KPR
N | BidE = ) 4% AR AR A B & ’ : 033 3—63% 6% Bk it '
B 88 177 205 121 — 47 31 84} 23,021 i P
[| 7 sy 3 42 61 103 60 ', - 27 t 13 11,442} 11,664 3,013
3 st 46 56 102 61 = 20 221 . &l 11,579
| _ ml, B & 0 i 3 1 i it k- I L |
Y e 21 5 : C12,934 9,250 ,
| T B F| L. s 30 46 20} 3 20 -3 26i ' 5,600/ | 6219
v_ | mn 57 60 17 AN 4 40 70 14 20,805 * s
: | 5 ] m i 32 56 i 15 20 36 10,302} , 9,250 6,219
s | o 3 28 61 45| . 3 25 50 78 10,503
" | i - - 53 99 - 3 69 42 14 198 Co
B RE R % B R IR R AT [a]—rzﬁ;a\{z} ...... ﬁ 23 34 = 1 31 13 50 8,9?2' 7,250 6,100
, T . 30 : 65 — 2 38 24 64 - 9,930 ‘
2 ‘ | s 61 59 113 67 5 25 16 - 46 23,342 _
- B A BB e 21l - 28 49| 38 3 5 3 i1 ]1,412} 6,700 4,925
- | - 40 24 64 29 2 ' 20 13 35 11,930 :
[ 68 65 133 12 3 29 29 61 31,930, -
A —4E Bl veees 29 34 63 42 2 1 14 27 15,130i} 6,700 4,600
| 5= 39 3 70 30 1 18 15 34 o 16,800
| 490 70 2 37 40 9 11,501
| e 7af,, B 93 28 [ ] } .
| B e : 30 65 30 — g 27 5 - 5,550 4,000 2,460
| + B E|, T = o+ 84 40 2 20 - 22 44 5,951 »
| | ®m% g 68 153 €0 2 43 40 85 \14,695 - .o R
| B PR 5 e e : 26 .55 20 - 20 BT 39 7,309 } 4,000 2,457
[ <I- 5 42 98| 40 2/ 23 21 46 ) 7,386 _
. N P ga 71 155 50 2 43 60 . 105 21,083 -
=B RE R 6 RGe) B 3] rﬁj+zdﬁ{5; v 423 30 59 20 — 17 22 39 9,542 } 6,100 2,886
g 3. s 55 41 L ‘3:}4 L 2 26 38 66 11,541 ‘ ,
B g3l 57 140 56 x 3 36 45 84 15,301 1
I+ 25 5 e Se 19 44 15 ;- ~ 15 14 29) . 5,052'} 1,100 2,764
A _ 58] 38 96 41} & 3 21 31 55 10,239))) =
= , el . e
b [ mm| 58 43 , 101 43 2 39 42 83 16,443 :
[ O 29 14 36 1 i3k = -15 10 o235 5,500 6,100 - 2,642
& a— = 29 35 32 4 2 24 T 32 58, 10,943 :
: s , |
- (I = 2 21 30 53 10,95 '
w_ fa) BB 40 60 N | 950
BT, ersna 29 25 47 20 = 7 20 27 5,500 2,650 60
' + B F|, ... T 35 , 53 27 2 14 10 26} 5,450 ’ >
: [ mm 20 59 89l 130 3 40 26 69 16129
| | s O . 12 22 34 52 — 17 10 27, 7.982 2,650 3,650
S i AL canenens 186 4 37 ES : 78 3 23 . 16 R 42 8,147 :
{ | mw a7 60 107 8 2 39 49 90 24316)) ‘
FTERFRFEHRkpm &£ x| H I‘E.-ﬁil% ------- 19 30 49 5 5 21 22 43 ' 12,1485, 5,072 3,272
i S e 23 30 58 3 2 18 P97 47 1268 :
{ B —_ - = = —] = [
5 I g 1 RO — — == — — - = — } — —
;‘ . AL weennens A _— - ) = - - —_ — ) —
| [ % 41 57 98 , 132 4 43 51 98] =h
y | L) R 17 21 38 54 — 21 29 43 = 1,550 : 2,610
| %o 24 36 60 78 4 22 29 55 ' 1 . .






